LINEAR AND NONLINEAR SYSTEMS OF EQUATIONS SECTION 7.1 NOTES

ASYSTEM OF EQUATIONS is a set of two or more equations with “The Same variahles

Lx3y=6
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A SOLUTION(S) to the system are variable values that satisfy A L L of the equations.
(In other words, the solution values must make every equation of the system true.)
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The Method of Substitution

. Solve one of the equations for one variable in terms of the other.

. Substitute the expression found in Step 1 into the other equation to obtain an equation in one variable.

. Solve the equation obtained in Step 2.

. Back-substitute the value obtained in Step 3 into the expression obtained in Step 1 to find the value of
the other variable.

5. Check that the solution satisfies each of the original equations.
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Examples:
1. Solve the system of equationsusing substitution.
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2. Atotal of $25,000 is invested in two funds paying 6.5% and 8.5% simple interest. The yearly interest
is $2000. How much is invested at each rate?
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One method of finding solutions to systems is to graph the equations and find their iﬂfcrmh' ons
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Graphical Approach to Finding a Solution

The intersection(s) is a solution because the equations have the same A~ = at that point.

( x, y)
Use a calculator to graph each system. Find a window size that shows ALL intersections, sketch a
picture that shows ALL intersections, then determine the solution(s). *round to 2 decimal places*
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